Why the Surface Area of the Newgle diverges:
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It’s easy to see that the circumference of a circle with radius s equal to 2m (;)

To find the surface area we just add up all the circumferences from x =1 tox = o
(The integral symbol and limit sigh want scare you, but they’re really quite harmless.)
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dx = lim on = [2nInx]? =[2nInb— 2rln1] = [2nlnb]||= 2nlnoo =
1

Tada! The surface area diverges to oo!

Why the Volume of the Newgle converges:

2
Lo, . . .1, 1
Likewise, it’s easy to see that the area of a circle with radius s equaltom (;)

Voila! The volume converges to !



